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[ ] Carlsen,Magnus 2855
Bl Nepomniachtchi,lan 2782

FIDE World Championship 2021 (6.1)
[Melao Jr., H.]

1.d4 )6 2.543 d5 3.93 e6 4.£92
£e7 5.0-0 0-0 6.b3!? c5 7.dc5 £cb5
8.c4 dc4 9.Wc2!? We7 10.2bd2
N c6!?
[ 10...cb3 11.2b3
A) 11..2b6? 12.a4 Wc7
(12...8c7 13.9fd4+)13.Wc7 £c7
14.£a3 Be8 15.9fd4z;
B) 11..8d6 12.)fd42 ]
11.9c4 b5 12.5ce5 Hbd 13.¥b2
&b7 14.a3 9c6!
[14..5bd5 15.5)d3 £b6 16.5)fe5 ]
15.2d3 £b6 16.295 Efd8 17.2f6
gf6 18.Eac1 Hd4
[18...e5!7 ]
19.5\d4 £d4 20.Wa2 £g2 21.shg2
Wb7 22.c2g1 Wed! 23.Wc2! a5
24.2fd1 g7 25.2d2 Eac8
[25..0417 ]
26.%c8 Hc8 27.2Ec8 Wd5 28.b4 a4
29.e3 £e5 30.h4 h5
[30...2b2!= ]
31.¢kh2! £b2?
[31..%b3 ]
32.8c5+ Wd6?
[ 32...%d7 33.Hcc2 £a3 34.%a2!
(Now is not good 34.9f4? Wb7
35.8d8 because 3= )34...e5!
A) 35.52a3 e4 36.2c3 ed3
37.2cd3= (37.8dd3 W5 38.2g1
967 );
B) 35.e4 ]
33.8d1?

[ 33.8Bcc2! £a3 34.0f4) Wf8

(34...We7 35.5c8+-)35.5c7
A) 35..2b4 36.5)e6+-;
B) 35..Wb4 36.8dd7 Wb1
(36...Wf8 37.9eb+-)37.8f7 g8
38.8g7 &f8 39.0e6 e8
40.2c84#;

C) 35...$2g8
C1) 36.2dd7? &b4 37.&2h5 15
38.4f6 g7 39.9h5
Cila) 39..¢0g6? 40.9)f4 f6
41.9h3 a3 42.5g5 &g6
(42...a2 43.9h7+- ) 43.8f7
Wg8 44.2fd7 a2 45.8a7 e5
46.2a6 ©h5 47.8h7 g4
48.13#;
Cib) 39...%¢g8=;
C2) 36.2dc2! Wb4 37.Hc8
¢g7 38.5Hh5 &h7 39.22c7
g6 40.0)f4 g7 41.5eb
chg6 42.5Hg8 f5 43.0d4 eb
44.2e8 <od6 45.Bee7 &d5
(45...%el1 46.9b5+-; 45...¥b2
46.95 ©d5 47.e4#; 45...f5
46.8ed7 eb 47.9)c6+-)
46.2ed7 ed 47.f3+-
win the Queen |
[ 33.2h5? £a3 34.Bb5 Wd7!
35.8b6 (35.85c5 £b4-+ ) 35...e5
36.2d1 Wc7 37.2a6 Wc2-+ ]
33...2a3F 34.8Bb5 Wd7 35.2c5 e5
[ 35...82b4 36.Hccl £e77]
36.8c2
[ 36.e4!% ]
36...%d5?
[ 36...2b4F ]
37.2dd2~ ¥bh3 38.2a2 e4?
[ 38...f5!7« ]
[ 38...2b4 39.Bdb2 Wd3 40.Eb4t ]
39./2c5!+- Wh4 40.2ed?
[ 40.8dc2! 5 41.Had4 Wa4d
42.8c3+- The difference compared
to the pawn structure f7,f6,e5 is that
Black could put the Queen on f1,
preventing White's King defending
the f2 pawn, and Black's King could
defend the base 7,f6 from g7 and g6,
moving Kg7-Kg6-Kg7-Kg6 etc., while
White would not be able to reinforce
the attack on f6 without leaving the
defense on f2. But with the {7,f5,e4
structure the white pawn h4
prevents Black's King from making
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the analogous defense Kg6-Kg5-Kg6-
Kg5 etc. This puts Black in
zugzwang, forcing him to remove the
Queen from f1 and so White can put
his King at g2 and start capturing
Black's pawns, winning "with ease".
Example: &f6 43.2ca3 Wd1
44.2a5 g6 45.2b5 W1 (45...%13
allows Kg1, that release the Rooks
from defending f2 46.2d2 &f6
47.8ab g6 48.8d6 &g7 49.4:g1
Wog4 50.Be5 W3 51.8d7+-)
46.2d5 &f6 47.2ad2 g6 48.2d8
hf6 49.28d6 g7 50.Hc2
zugzwang and Black need play f6
A) 50..%e1 51.8d5 Wb
(51...296 52.80g2+- ) 52.8cC5+-;
B) 50...§h7 51.2{6+-;
C) 50..%b5 51.8d1 b3
52.H2cd2 b5 53.¢kg2 &f6
54.2d6 g7 55.21d5 ¥b8
56.2c6 Wa8 57.Ecc5+-;

D) 50...f6 51.Hcd2 <eg6 52.26d5
Wc4 53.%2g2 Wa6 54.2c5 Web
D1) 55.2dd57? f4! 56.ef4
D1a) 56...e37? 57.15;

D1b) 56...%g4? 57.8g5+-;
D1c) 56..%e8 57.f5 %h6
(57...5g7 58.8¢c7 $h6
59.5dd7+- ) 58.2d6 e3
59.fe3 We3 60.2f6 g7
61.296 ©f7 62.8c7 &f8
63.2f6 g8 64.2e6 Wd2
65.2h3+-;
D1d) 56...%We7 57.6bh2
(57.5h5 e3=)57...e3 58.fe3
We3 59.2c2 Wif3=;
D2) 55.2d8! &h6 56.2cc8
g6 57.2g8 £h6 58.2h8 g7
59.2cd8 g6 (59...Wa2
60.2h5+- ) 60.2dg8 &f7
61.2a8 $g6 62.2hc8 h6
63.2i8 g6 64.2h8 Wb3
65.2ag8 ©f7 66.2b8 Wa2
67.82h5 (67.8b717)

D2a) 67...82g6 68.2bh8

We2 69.28h6 g7 70.2h7
g8 71.Bh8 &f7 (71..dg7
72.85h7 &g6 73.h5 g5
74.59g8# ) 72.8f5+-;
D2b) 67...f4!? 68.gf4 We2
69.2h7 g6 70.2bb7 g4
71.2h2 We2 72.2hg7 f5
73.8292+- ]
40...%b3= Now it's dead draw. Black
must play a3 and sustain the pawn,
while White must try to win this pawn
by doubling the Rooks in the “a”
column, putting the King defending the
f2 pawn and maneuvering the Knight to
c2. Maybe Carlsen estimated that this
ending would be won for White, but
Black manages to defend the Pawn of
a3 by keeping the Bishop on b4-c5-d6
and when White plays Nc2, Black plays
Qb3! Then White cannot play Ca3
because the Bishop would enter in the
al1-h8 diagonal, get matterial and the
game would turn in Black's favor. In
this way, neither side can evolute and
the game is draw. 41.2ac2 2f8
42.\c5 Wh5 43..)d3 a3 44.5f4 Wa5
45.%a2 £b4 46.2d3 &h6 47.Ed1
Wad4 48.2da1l 2d6 49.22g1 b3
50.2e2 ¥Wd3 51.2d4 ©h7 52.5%h2
Wed?!
[ 52...2b4!= and the White canot win
the a3 Pawn
A) 53.9¢c2?! This move is
probably still a draw, but it place
unnecessary difficulties for White.
£c3 54.9e1 Wil 55.8a3 Lel!
(55...2a1 56.5a1=)56.23a2
A1) 56..%g6? 57.8c1 &g7
58.E8b2! put both Rooks in black
squares (same color of bishop!)
because black Queen cannot
attack any of them when
moving from f1. (58.8cal?
We4F ) 58...56g6 59.8al ¢bf5
60.2c1 ed 61.2b4
(61.8a1?? Df3-+)61...5131?



www.sigmasociety.net, Hindemburg Melao Jr., 04/05/2022

(61...0f5 62.8b2=) 62.Ef4
he2 63.2f6 ©d2 64.Hal Wd3
65.8a2 ®ci1 66.5f7 Wca
67.2a1 b2 68.2fa7 £f2
69.87a2 Wa2 (69...2b3
70.8f2+- ) 70.8a2 a2=
Draw. Bishop + Rook's Pawn
that promote in color square
different from the Bishop
diagonals, with King arriving
easy at promotion square.;
A2) 56...Wc4! 57.8b2 Wc3!
(57...£b4 58.82a4+-; 57...£c3
58.8c1 Wd3 59.8b3 ¥e2=)
58.2aa2 f5 59.Hc2 Wd3
60.2cb2 Wed4 61.8c2 Wf3
62.82cb2 £c3 63.8c2 &e5
64.2d2 Wg4 65.¢g23F
| don't see how Black could win,
but | wouldn't want to have that
position with White.;
B) 53.¢bg1 £d6 54.%c2 Wb3!
55.%g2 (55.9a3? £e5F)
55...¢6g6=]
53.8a3!t This endgame is much more
comfortable for White, the only one has
any practical chances, but with
accurate play for both the position
should be draw. 53...%h4 54.cg1
Wed
[ 54...£93? 55.fg3 Wg3 56.¢0f1
Wh3 57.%%e2 g2 58.%2d3 h4
59.23a2 Wg6 60.%2c4 h3
61.8h1+-]
55.%a4 &e5 56.He2 Wc2 57.21a2
Wb3 58.%2g2 Wd5 59.f3 ¥d1 60.f4
8c7 61.2f2 2b6 62.2a1 Wb3
63.2Ze4 kg7 64.Ze8 f5 65.2aa8 Wb4
66.2ac8 2a5 67.2c1 £b6 68.Ee5
Wb3 69.2e8 ¥d5 70.2Ecc8 Whi
71.2c1 Wd5 72.85b1 £a7?!
[ 72...h4] 73.8b6 (73.gh4 £d8=)
73...n3 74.0d4!? (74.5bb8 h2
75.898 &f6 76.5b6 Pe7 77.2h8
h1¥%=)74..h2 75.2h6 ©h6 76.2h8
¢hg7 77.8Bh2=]

73.2e7 £c5 74.82e5 Wd3 75.2b7
Wc2 76.Eb5 £a7 77.Ea5 2b6
78.2ab5 &a7 79.2f5 Wd3 80.%f7!
The endgame is still draw, but now it's
much harder for Black to find the
correct moves. The passed Pawns will
be an ongoing problem for Black along
dozens of moves, requiring a lot of
stamina without carelessness over
many hours. 80...52f7 81.2b7 g6
82.%a7 Wd5 83.2ab6
[ 83.9d4! To keep pressing, White
would have to prevent the invasion
by the Black's King by 5-g4-h3 etc.,
in which case Black would be able to
force the draw more easily. If Black
try the invasion with the Queen,
White can solve it shortly. ¥h1
84.Ha6 &f7 85.50)f3% ]
83...¢th7
[ 83...¢ef5l= 84.0\d4 <hg4 85.2g6
®h3 86.Hg5 Wg2 87.%el1 Whi
88.%2d2 ¢hg2! 89.¢ed3 &f2l=]
84.2a1 ©g6 85.0d4! ¥Wb7 86.2a2
Wh1 87.2a6 &f7 88.2f3 Wb1
89.2d6 ckg7 90.2d5 Wa2 91.2d2
Wb1 92.5e2 Wh6 93.Ec2 b1
94.0\d4 Wh1 95.8c7 &f6 96.2c6
bf7 97.0f3 Wb1 98.2g5 g7
[ 98...cke7!=]
99.2\e6 f7 100.2d4 Wh1 101.2c7
kf6 102.20f3 Wb1 103.2d7 Wb2
104.2d2 Wb1 105.2g1 Wb4 106.2d1
b3 107.2d6 g7 108.2d4 Wb2
109.25e2 ¥b1 110.e4!? Wh1
111.2d7 g8 112.8d4 Wh2 113.cke3
h4 114.gh4 Wh3 115.¢td2 ¥h4
[Attached some sellected games with
the same endgame theme] 116.2d3
[116.2d5 Wf2 ]
116...f8 117.2f3 Wd8 118.e3 Wa5
[118...Wb6 119.0d4 b2 120.e5
We3 121.eed Welt ]
119.2f2 Wa7?! 120.Ee3 Making a
little hut around the King and
supporting the Pawns' advance. Now
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Black's life is more difficult... 120...%d7
121.2g3 Wd2 122.¢kf3 ¥d1 123.Ee2
¥Wb3 124.%2g2 Wb7? To be able to
advance passed Pawns in this unusual
situation, White needs to put the Rook
in front of the Pawns, and Black needs
to try to avoid that. One way to avoid it
would be with 124...Qd3, controlling c2,
d2 and b5, then if White tried Ra2 and
Ra5, there would be Qd2.
[ 124...%d3! 125.e5 b1 126.f5
Whe 127.e6 he7! 128.0h5 Wb5!
129.8f2 We5 130.20g3 ( 130.5f4
We2: 130.h3 We3 131.4g2 )
130...%d5 131.2h3 Wd3 132.¢g4
Wd4 133.2f4 Wg7 134.2h4 W6
135.¢kg4 Wg7 136.%2f3 Wc3
Although Black's position seems
desperate, the fact is that White's
position could no longer evolve. ]
125.2d2!+
[ 125.¢0f2? b6 126.2e3 Wd6
127.e5 Wd1 128.15 Wd4 129.¢ef3
de7 130.He2 Wd5 131.2e4 Wd3
132.¢2f4 Wh3 133.593 Wh8t ]
125..Wb3 126.2d5 &e7 127.2e5
f7 128.2f5 e8 129.e5 Wa2
130.%2h3 We6?
[ 130...%c2 ]
131.2h4+- ¥Wh6
[131...%a2 ]
132.0h5 Wh7 133.e6 Wg6 134.2f7
¢d8
[ 134...We6 135.0g7 &f7 136.9e6
cve6 137.¢g5 (137.g47? &f6
138.2h4 £f5 139.£93 £g6
140.294 £f6=)137...2e7 138.%2g6
e8 (138..5f8 139.8>16+-)
139.¢2g7+- ]
135.f5 ¥g1 136.2g7
1-0




